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Generator-Load Mismatches

Transmission line circuit for mismatched load and generator.
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Example

ΓL = 0.24∠ − 104° 𝛽𝑙 =
2𝜋

𝜆

3𝜆

2
= 3𝜋

Zin = 𝑍𝐿 = 80 − 𝑗40

V+ = 10
100

100 + 100
= 5 𝑉

Γg = 0

𝑉max = 5 1 + Γ = 6.2 𝑉

𝑉 𝑧 = 5 𝑒−𝑗𝛽𝑧+ Γ𝑒𝑗𝛽𝑧𝑉min = 5 1 − Γ = 3.8 𝑉
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Lossy Line

𝛾 = 𝛼 + 𝑗𝛽
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Transients on Transmission Lines
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Bounce diagram
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Example

𝑣+ = 12
100

50 + 100
= 8 V

Γ𝑔 =
50− 100

50+ 100
= −

1

3

Γ𝐿 =
200 − 100

200 + 100
=
1

3
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8 V

8

3
V

−
8

9
V

−
8

27
V

8

10.67

9.78
9.48

Two steps further: 9.58 9.61
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